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Sample Problem. The NCP parent is a public-school teacher earning $89,000 per year. He is subject to a 

mandatory pension called IPERS. He also is paying into Social Security/Medicare. 

DO NOT enter $89,000 as income for the NCP. Instead, use the “IPERS Calculator” to enter the numbers. 

The calculator will do the work for you. 

 

 

What’s happening? Enter $89,000 as “gross wages” for the NCP. The NCP is a “Teacher” so 6.29% of 

NCP’s wages are automatically invested for his retirement (IPERS). In step 3 in the image, you see 

5598.10. This is the 6.29% of NCP’s gross wages for the year. This amount of money is not subject to tax.  

NCP may not deduct this retirement contribution when calculating child support. Iowa Support Master 

adds back in the $5,598.10 to NCP’s income. 

When you look at Form 1, you will see that of the $89,000 of income to the NCP, $83,401.90 is subject 

to tax. The other $5,598.10 is not subject to tax but it is added back in as income to NCP. This will result 

in a higher amount of child support due by the NCP. 



 


